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2 thH] : Ni, Mn, Fe & 37 3+& 5% =7 G ~ 31%)

As 5 87 BE v= g (-6 ~ -58%)

- F(Pb)& 0.0056pg/mt = 7 71F0.5ug/n)e] 1.1% +F

- AFe)& 0.4888ug/m & 127 &% = 714 & =25 Jerd

- Fe(0.4888) > Ca(0.2578) > Mg(0.1376) > Al(0.1195) > Mn(0.0492 > Cu(0.0073) >
Pb(0.0056) > Ni(0.0044) > Cr(0.0030) »>As(0.0012) > Cd(0.0002) > Be(0.0000)

(SH g/ m*)

-
HI

PM-10| As Pb Cd Ni Mn Fe Cr Mg Be Ca Cu Al

Of
Ol

19 |0.0006 | 0.0038 | 0.0002 | 0.0035 |0.0099 |0.3123|0.0010|0.1140| 0.0000 | 0.2989 | 0.0038 | 0.1162

M 17 10.0010 | 0.0056 | 0.0002 | 0.0029|0.0219|0.3733 | 0.0029 | 0.1360 | 0.0000 | 0.2524 | 0.0063 | 0.1476

oy
FY
Ol
02

17 10.0012 |0.0059 | 0.0002 | 0.0058 | 0.0326 | 0.4959|0.0071|0.1468 | 0.0000 | 0.3186 | 0.0102 | 0.1205

otz 20 10.0019|0.0071|0.0003 | 0.0054|0.1325|0.7738 | 0.0012 | 0.1535 | 0.0000 | 0.1613 | 0.0090 | 0.0936

3 18 |0.0012|0.0056 | 0.0002 | 0.0044 | 0.0492 | 0.4888 | 0.0030 | 0.1376 | 0.0000 | 0.2578 | 0.0073 | 0.1195

H = 43 10.0016 | 0.0096 | 0.0004 | 0.0068 | 0.0330 |0.5479|0.0067|0.1719|0.0000 | 0.5486 | 0.0114 | 0.2559

Hd 2 28 |0.0029|0.0098 | 0.0004 | 0.0036 | 0.0375 | 0.4640 | 0.0062 | 0.1772 | 0.0000 [ 0.3812 | 0.0078 | 0.1645

2
jlas

- -25% | -41% | -42% | -35% | 49% | -11% | -55% | -20% | 0% | -53% | -36% | -53%
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-58% | -42% | -42% | 22% | 31% 5% | 51% | -22% | 0% | -32% | -6% | -27%
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0.01 - 0.2 II - II -
As Pb Mn Fe M Ca Al

Cd Ni Cr Be Cu

s Eiad) =HEH(;3E) = FESE(219 aF)

CFEE dd 2 dd 54 gy v

_| SdAHE &l
O 3te+ AL
- F(Pb)2 0.0038pg/ni 2 A 71 F0.51g/m)S] 0.8% TF
- HFe)S 0.3123ug/m = 127} 3+&E = 7M=& FEE YEY
- d€9 g¥] - A FHoA TE A (-23 ~ -49%)
- A9 59 vl N Cu 5 2 FEolA BE 570 (@1~ 58%)

As 5 ) FEAH = i (-4 ~ -68%)

(Eb91ug/m)
T e PM-10| As Pb Cd Ni Mn Fe Cr Mg Be Ca Cu Al

a ¥ 19 |0.0006 | 0.0038 | 0.0002 | 0.0035|0.0099|0.3123 | 0.0010 | 0.1140 | 0.0000 | 0.2989 | 0.0038 | 0.1162

Y

38 |0.0010|0.0066 |0.0003 | 0.0048 | 0.0153 | 0.4592 | 0.0018 | 0.1475 | 0.0000 | 0.4816 | 0.0051 | 0.2258

a2
i
oln
[FY

27 |0.0020|0.0058|0.0003 | 0.0022 | 0.0120 | 0.3240 | 0.0016 | 0.1201 | 0.0000 | 0.3966 | 0.0031 | 0.1524

- -37% | -42% | -25% | -28% | -35% | -32% | -45% | -23% | 0% | -38% | -26% | -49%
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- -68% | -34% | -25% | 58% | -18% | -4% | -38% | -5% 0% | -25% | 21% | -24%




O BHE P&

F(Pb)-2 0.0056pg/m 2 737105/ 1.1% T

=

AFe)2 0.3733ug/m =2 127 &5 T 7MY =2 55 YUEY

- e tv] - A FEANA = DA (-12 ~ -57%)
- A3 &€ ¥ N, Mn 5 27} &&FNA = 57 (15 ~ 32%)
As T N FEAA = A (-2 ~ -64%)

(EH g/ m*)

o . Al
T & PM-10| As Pb cd Ni Mn Fe Cr Mg Be Ca Cu

= & 17 {0.0010|0.0056 | 0.0002 | 0.0029 | 0.0219 | 0.3733 | 0.0029 | 0.1360 | 0.0000 | 0.2524 | 0.0063 | 0.1476
dOE 39 |0.0018|0.0105|0.0004 | 0.0041|0.0319|0.4266 | 0.0039 | 0.1786 | 0.0000 | 0.5833 | 0.0121 | 0.2840

HEsE 28 10.0029|0.0106|0.0004 | 0.0022 | 0.0190 | 0.3799 | 0.0032 | 0.1990 | 0.0000 | 0.4048 | 0.0075 | 0.1586

<l
II:_HHE| - -43% | -46% | -54% | -29% | -31% | -12% | -26% | -24% | 0% | -57% | -48% | -48%
=g - -64% | -47% | -54% | 32% | 15% | 2% | -10% | -32% | 0% | -38% | -16% | -7%
CH |
=
O B¢F A&

G (Pb)2 0.0059ug/m 2 &7 7] F0.5ug/m)S] 1.2% T

=

HAFe)e 04959/ 2 127) F& F 714 & 552 Uehy
- Ad oivl - A FEA w2 A (-23 ~ -53%)
- A9 sE tidl  Mn(7% 1= AR A &5 5 A (-6 ~ -60%)

(EH g/ m*)

T & PM-10| As Pb Cd Ni Mn Fe Cr Mg Be Ca Cu Al

= g 17 |0.0012|0.0059 | 0.0002 | 0.0058 | 0.0326 | 0.4959 | 0.0071 | 0.1468 | 0.0000 | 0.3186 | 0.0102 | 0.1205
HOE 50 |0.0021|0.0117|0.0004|0.0115|0.0519(0.7578|0.0144 | 0.1896 | 0.0000 | 0.5809 | 0.0170 | 0.2578

HAsE 26 |0.0031|0.0122|0.0004 | 0.0062 | 0.0304 | 0.5826 | 0.0124 | 0.1948 | 0.0000 | 0.3905|0.0119|0.1761

Ch | - -41% | -49% | -46% | -49% | -37% | -35% | -51% | -23% | 0% -45% | -40% | -53%
HEE
=g - -60% | -51% | -46% | -6% 7% | -15% | -43% | -25% | 0% -18% | -14% | -32%




- 1é-(lyt))—xc_D_‘ 0.00 71ug/m§ §]'7ﬂ7lﬁ~(0 5ug/m)-/] 1.4% %?:],

- AFe)& 0.7738pg/mt = 127) &5 F /M4 58 725 Uy
XL

- Ad 5¢ di¥] . Ni, Mn, Fe, Cu & 471 &= &% S7F 8 ~ 50%)
Cr & 7 &5dAH % T4 (21 ~ -84%)
(2Hl 2 pg/ me)
T & PM-10| As Pb cd Ni Mn Fe Cr Mg Be Ca Cu Al
= ¥ 20 |0.0019|0.0071 |0.0003 | 0.0054 | 0.1325|0.7738 | 0.0012 | 0.1535 | 0.0000 | 0.1613 | 0.0090 | 0.0936
e sE 30 [0.0037|0.0106|0.0004 |0.0038|0.0885|0.5696 | 0.0074 | 0.1947 | 0.0000 | 0.3329|0.0084 [ 0.1708
™A
ste| 58 - -48% | -33% | -23% | 43% 50% 36% | -84% | -21% 0% -52% 8% -45%
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1 A2 X Hiul

O B2}, &4 ATe) BE MT x 29 A% p|BHoR AW AR vm

1oy

- Pb, Cu, Mn, Fe, Al, Ca, Mg, As 5 8/l &&olA a2 L4

ol

0o G $EE ey

- 71 9} Cd, Cr, Ni 4tk 24ke] S A= ¢34

(Tt ug/m*)

T = Pb cd Cr Cu Mn Fe Ni Al Ca Mg As Be
2 | 0.0096 | 0.0004 | 0.0067 | 0.0114 | 0.0330 | 0.5479 | 0.0068 | 0.2559 | 0.5486 | 0.1719 | 0.0016 | 0.0000
o E
(22.3) £ 4100144 | 0.0002 | 0.0109 | 0.0188 | 0.0446 | 1.0181 | 0.0108 | 0.3366 | 0.7175 | 0.2801 | 0.0060 | 0.0000
24+ 1 0.0336 | 0.0019 | 0.0029 | 0.0158 | 0.0450 | 0.9450 | 0.0037 | 04621 | 1.1013 | 0.3127 | 0.0066 | 0.000




[81 & 1] ZADIZ & I Y w=sn: zz4 =2

2 J|dE TIg)
O =A717F : 2022. 4. 11. ~ 4. 15.
KSAALE ZFFP
(39 : mm)
- r e e | B
= AlL o Qo ol Ql Ql
T = 7|4l 1LXE | 2K} | 3UXL | 4K} | 5UKX} ol A LTS
=T o ToOo
St NES 0 0 0.5 0 0 1< 0.5
HMS 4 0 0 0 0 0 0g 0
U el 0 0 0 0 0 (03] 0
otF& A 2.6 0 0 15 0 2 4.1
(EAHALE FH7|2D
(&9 : )
T = 1LXE | 22X | 3YXF | 4€UXE | SUKX} S pS| E~ o
Stes= 16.6 18.8 15.5 12.5 134 12.5 18.8 15.4
HM S 17.7 19.6 14.8 12.3 134 123 19.6 15.6
SHs 17.3 19.5 14.6 12.1 13.0 12.1 19.5 15.3
OtF= 17.2 19.0 13.3 113 11.7 11.3 19.0 14.5
(SALE 5
(&9 : %)
+ = 19X | 22Xt | 3UXE | 4¥YXt | 5UX} S | £ | gz
Stea 82.8 79.4 85.5 68.3 62.1 62.1 85.5 75.6
NS 77.6 75.2 77.7 65.9 53.8 53.8 77.7 70.0
2L 85.5 83.1 83.9 68.4 58.1 58.1 85.5 75.8
otF& 86.2 823 87.2 80.4 63.9 63.9 87.2 80.0
EALYE FE
(%9 m/s)
T 14X} 22X} 3L X} 4L X} 5 X} ES P | E | o
Sts= 20 3.0 2.2 29 3.1 2.0 3.1 26
HMES 1.1 13 16 23 1.8 1.1 23 16
4= 0.7 0.7 13 16 1.2 0.7 16 1.1
oIF& 0.9 1.1 16 17 15 0.9 17 14
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